WILLIAMSON COUNTY, TEXAS CHANGE ORDER NUMBER: __2_

1. CONTRACTOR: Ramming Paving Company		Project:151FB115
2. Change Order Work Limits: Sta. 2+00 to	Sta. 176+00	Roadway: Chandler Road
3. Type of Change(on federal-aid non-exempt projects):	(Major/Minor)	Purchase Order Number:
4. Reasons: 2E (3 Max In order of	of importance - Primary first)	
5, Describe the work being revised:		
Quantities adjusted due to differing site conditions.		
6. Work to be performed in accordance with Items:		
 New or revised plan sheet(s) are attached and numbere New Special Provisions to the contract are attached: 	n/A ☐ Yes ☐	ı No
9. New Special Provisions to Item <u>N/A</u> No. <u>N/A</u> , S		
Each signatory hereby warrants that each has the authority		
The contractor must sign the Change Order and, by doing so, agrees to waive lany and all claims for additional compensation due to any and all other	I ne tollowing informa	tion must be provided
expenses; additional changes for time, overhead and profit; or loss of compensation as a result of this change.	Time Ext. #: N/A	Days added on this CO:0
THE CONTRACTOR Date 9/6/16	Amount added by this cha	nge order: (\$196,387.29)
By		
Typed/Printed Name Von Wice 5		
Typed/Printed Title 7201807 MANUALIFE		
RECOMMENDED FOR EXECUTION:	(*)	
	County Commiss	oner Precinct 1 Date
Project Manager Date Construction Observer	□ APPROVED	□ REQUEST APPROVAL
10 1.	County Commiss	
Design Engineer Date	□ APPROVED	□ REQUEST APPROVAL
last of glists	County Commiss	
Program Manager Pate	□ APPROVED	□ REQUEST APPROVAL
Design Engineer's Seal:	County Commiss	ioner Precinct 4 Date
STATE OF TELTO	County Commiss APPROVED	oner Precinct 4 Date □ REQUEST APPROVAL
KON Q. KWAN	G County APPROVED	Judge Date

WILLIAMSON COUNTY, TEXAS

CHANGE ORDER NUMBER: 2

1. CONTRACTOR: Ramming Paving Company		Project: 151FB115
2, Change Order Work Limits: Sta. 2+00 to	Sta. 176+00	Roadway: Chandler Road
3. Type of Change(on federal-aid non-exempt projects):	(Major/Minor)	Purchase Order
4. Reasons: 2E (3 Max In order of	of importance - Primary first)	Number:
5. Describe the work being revised.		
Quantities adjusted due to differing site conditions. 6. Work to be performed in accordance with Items: All		
7. New or revised plan sheet(s) are attached and numbere		
8. New Special Provisions to the contract are attached:	□ Yes ☑	No
9 New Special Provisions to Item N/A No N/A S Each signatory hereby warrants that each has the authority		
The contractor must sign the Change Order and, by doing so, agrees to waive	The following informat	tion must be provided
any and all claims for additional compensation due to any and all other expenses, additional changes for time, overhead and profil; or loss of compensation as a result of this change.	Time Ext. # N/A	Days added on this CO:0
THE CONTRACTOR Date 9/6/16	Amount added by this chan	ge order: (\$196,387.29)
By m Wa		
Typed/Printed Name Joy Wices		
Typed/Printed Title 72018UT MANNACY EP		The state of the s
RECOMMENDED FOR EXECUTION:	*	
Project Manager Date Construction Observer	County Commissio	oner Precinct 1 Date REQUEST APPROVAL
An Annual	County Commission	oner Precinct 2 Date
Design Engineer Date	□ APPROVED	REQUEST APPROVAL
program Manager Vale	County Commissio	oner Precinct 3 Date REQUEST APPROVAL
Design Engineer's Seal		
TE OF TEX	County Commission APPROVED	oner Precinct 4 Date REQUEST APPROVAL
	De A County J	10-13-2-1C udge Date
KON Q. KWAN 90584	APPROVED	

WILLIAMSON COUNTY, TEXAS

CHANGE ORDER NUMBER: 2

Project # 151FB115

TABLE A: Force Account Work and Materials Placed into Stock

LABOR	HOURLY RATE	HOUR! Y RATE

TABLE B: Contract Items

				ORIGINAL RI	ORIGINAL + PREVIOUSLY REVISED	ADD or (DEDUCT)	Z	NEW	
ITEM	DESCRIPTION	UNIT	UNIT PRICE	QUANTITY	ITEM COST	QUANTITY	QUANTITY	ITEM COST	OVERRUN/ UNDERRUN
160-2003	Furnishing and Placing Topsoil (4")	SY	\$5.00	11,600.00	\$58,000.00	00.0	7 11,600.00	\$58,000.00	\$0.00
164-2033	Drill Seeding (Perm)(Rural)(Sandy)	SY	\$0.20	11,600.00	\$2,320.00	00.0	11,600.00	\$2,320.00	\$0.00
316-2176	AGGR (TY-B GR-5 SAC-B)	l CY	\$107.00	954.00	\$102,078.00	(409.50)	v 544.50	\$58,261.50	(\$43,816.50)
316-2636	ASPH (CHFRS-2P OR CRS-SP)	GAL	\$3.25	38,386.00	\$124,754.50	(5,768.00)	/ 32,618.00	\$106,008.50	(\$18,746.00)
354-2021	PLANE ASPH CONC PAV (O" TO 2")	SY	\$86.00	107.00	\$9,202.00	00'0	107.00	\$9.202.00	\$0.00
354-2027	PLAN ASPH CONC PAV (8" TO 10")	SY	\$15.50	26,559.98	\$411,679.69	00.0	26,559.98	\$411,679.69	\$0.00
500-2001	MOBILIZATION	ST	\$56,000.00	1.00	\$56,000.00	00.00	1.00	\$56,000.00	\$0.00
502-2001	BARRICADES, SIGNS, AND TRAFFIC HANDLING	MO	\$37,500.00	2.00	\$75,000.00	00'0	2.00	\$75,000.00	\$0.00
662-2113	WK ZN PAV MRK SHT TERM (TAB) TY W	EA	\$2.65	28.00	\$74.20	572.00	00.009	\$1,590.00	\$1,515.80
662-2115	WK ZN PAV MRK SHT TERM (TAB) TY Y-2	EA	\$2.65	1,804.00	\$4,780.60	350.00	7 2,154.00	\$5,708.10	\$927.50
666-2002	REFL PAV MARK TY 1 (W) 4" (BRK)(090 MIL)	LF	\$0.28	4,794.00	\$1,342.32	(3,524.00)	1,170.00	\$327.60	(\$1,014.72)
656-2011	REFL PAV MARK TY 1 (W) 4" (SLD)(090 MIL)	I LF	\$0.28	35,216.00	\$9,860.48	1,005.90	/ 36,221.90	\$10,142.13	\$281.65
666-2035	REFL PAV MARK TY 1 (M) 8" (SLD)(090 MIL)	I LF	\$0.57	554.00	\$315.78	00'9	960.00	\$319.20	\$3.42
666-2047	REFL PAV MARK TY 1 (W) 24" (SLD)(090 MIL)	I LF	\$5.75	106.00	\$609.50	14.10	120.10	\$690.58	\$81.07
666-2053	REFL PAV MARK TY 1 (W)(ARROW)(090 MIL)	EA	\$85.00	3.00	\$255.00	(1.00)	7 2.00	\$170.00	(\$85.00)
666-2095	REFL PAV MARK TY 1 (W)(WORD)(090 MIL)	EA	\$105.00	5.00	\$525.00	(3.00)	2.00	\$210.00	(\$315.00)
666-2110	REFL PAV MARK TY 1 (Y) 4" (SLD)(090 MIL)	LF.	\$0.28	36,050.00	\$10,094.00	2,849.20	7 38,899.20	\$10,891.78	87.767\$
666-2131	REFL PAV MARK TY 1 (Y) 24" (SLD)(090 MIL)	ĹF.	\$5.75	292.00	\$1,679.00	2.00	297.00	\$1,707.75	\$28.75
666-2142	REFL PAV MARK TY II (W) 4" (BRK)(090 MIL)	LF	\$0.11	4,794.00	\$527.34	(3,624.00)	7 1,170.00	\$128.70	(\$398.64)
666-2145	REFL PAV MARK TY II (W) 4" (SLD)(090 MIL)	LF	\$0.11	35,216.00	\$3,873.76	1,005.90	36,221.90	\$3,984.41	\$110.65
666-2153	REFL PAV MARK TY II (W) 8" (SLD)(090 MIL)	LF	\$0.20	554.00	\$110.80	00.9	00.095	\$112.00	\$1.20
666-2157	REFL PAV MARK TY II (W) 24" (SLD)(090 MIL)	F	\$3.95	106.00	\$418.70	14.10	120.10	\$474.40	\$55.69
666-2160	REFL PAV MARK TY II (W)(ARROW)(090 MIL)	EA	\$50.00	5.00	\$250.00	(3.00)	2.00	\$100.00	(\$150.00)
666-2173	REFL PAV MARK TY II (W)(WORD)(090 MIL)	EA	\$85.00	3.00	\$255.00	(1.00)	2.00	\$170.00	(\$85.00)
666-2178	REFL PAV MARK TY II (Y) 4" (SLD)(090 MIL)	LF	\$0.11	36,050,00	\$3,965.50	2,849.20	v 38,899.20	\$4,278.91	\$313.41
666-2185	REFL PAV MARK TY II (Y) 24" (SLD)(090 MIL)	LF	\$3.95	292.00	\$1,153.40	2.00	297.00	\$1,173.15	\$19.75
672-2012	REFL PAV MRKR TY I-C	EA	\$4.88	28.00	\$136.64	57.00	00'98	\$414.80	\$278.16
672-2015	REFL PAV MRKR TY II-A-A	EA	\$4.88	294.00	\$1,434.72	325.00	00.619	\$3,020.72	\$1,586.00
3268-2008	D - GR HMA TY - B PG64-22	NOT	\$82.00	15,155.99	\$1,242,791.18	0.00	J 15,155.99	\$1,242,791.18	\$0.00
3268-2028	D - GR HMA TY - C PG70-22	TON	\$85.50	12,065.00	\$1,031,557.50	[1,611.43]	75.553.57	\$893,780.24	(\$137,777.27)
3268-2066	D - GR HMA TY - C PG70-22 (LEVEL-UP)	TON	\$151.00	72.00	\$10,872.00	0.00	72:00	\$10,872.00	\$0.00
	TOTALS				\$3,165,916.61			\$2,969,529.32	(\$1.96,387.29)

CHANGE ORDER REASON(S) CODE CHART

Design Error or Omission	1A. Incorrect PS&E
J. Joseph Ener et et et et et	1B. Other
	is. Only
2. Differing Site Conditions	2A. Dispute resolution (expense caused by conditions and/or resulting delay)
(unforeseeable)	2B. Unavailable material
	2C. New development (conditions changing after PS&E completed)
	2D. Environmental remediation
	2E. Miscellaneous difference in site conditions (unforeseeable)(Item 9)
	2F. Site conditions altered by an act of nature
	2G. Unadjusted utility (unforeseeable)
	2H. Unacquired Right-of-Way (unforeseeable)
	2l Additional safety needs (unforeseeable)
	2J. Other
3. County Convenience	3A. Dispute resolution (not resulting from error in plans or differing site conditions)
	3B. Public relations improvement
**	3C Implementation of a Value Engineering finding
	3D. Achievement of an early project completion
	3E/ Reduction of future maintenance
	3F. Additional work desired by the County
	3G. Compliance requirements of new laws and/or policies
	3H. Cost savings opportunity discovered during construction
	3I. Implementation of improved technology or better process
	3J. Price adjustment on finished work (price reduced in exchange for acceptance)
	3K. Addition of stock account or material supplied by state provision
	3L. Revising safety work/measures desired by the County
	3M. Other
4. Third Party Accommodation	4A. Failure of a third party to meet commitment
	4B. Third party requested work
	4C. Compliance requirements of new laws and/or policies (impacting third party)
	4D. Other
5. Contractor Convenience	5A. Contractor exercises option to change the traffic control plan
	5B. Contractor requested change in the sequence and/or method of work
	5C. Payment for Partnering workshop
	5D. Additional safety work/measures desired by the contractor
	5E. Other
6. Untimely ROW/Utilities	6A. Right-of-Way not clear (third party responsibility for ROW)
	6B, Right-of-Way not clear (County responsibility for ROW)
	6C. Utilities not clear
	6D. Other